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YoT-Y7 § T R G, S TT HE
There are THREE sections in the paper A, B and C.

(i) QFITCH FIT GG & G 10 77T & IR T | 5% YT b 3% 7 & G

@l 10 9177 TG FHR F T & 6 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QRT3 8 397 4 8 58T 6 Fo1 & IT G | I J97 3 3% F & 0

37HT 5 5T / 50 Wegl 7 I’ o |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFTH ¥ 6 51§ @ 55T 4 w71 & IR T | T2F 5 8 3 H1 8 0

)

3757 15 G187 / 150 WeGl 7 37 e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

% QI & G 5791 1 HHIR T G 5T HifarT |

Solve all the questions of a section consecutively together.

(vi) @1 aTraT 7 =i 81 1 R 7 3l srgare & A & |

Only English version is valid in case of difference in both the languages.

AR/ -

Section — A
A TR T, s dieer didl % forw arfdhes Fdw F gear €
() OR (b) AND
(c) NOT (d XOR

Two contacts in parallel are equivalent to which logical instruction in a PLC
ladder ? ' ' '

ROM:NO:S s ivviswerinssansness

|

[STferehaT 31 : 60
[Maximum Marks : 60

(a) OR (b) AND
() NOT (d) XOR
(1 of 4) P.T.O.
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(2 of4)
ot ue ot Tt T T e T g9 9 Wi R -
(a) 3T GUg I (b) Tria @ =

(c) A /fia @ve gFl d) FHIHETEH
A push button used in PLC ladder program is a part of

(a) Input module (b) Output module
(¢) Both Input/Output modulues (d) None of these
ot uet ot =i o H e Ty am R -

(a) IAFTd WU (b) fria g =

(c) 3Ta / frta < @ug 1 d) TP T

A thermostat used in PLC ladder program is a part of
(@) Input module (b) Output module
(¢) Both Input/Output modulues (d) None of these

gl o duereh wiedt # i o gk e A @ 7

(a) Y& (b) TR

(c) THIH (d) s RE
In sequencing control PLC ladder which device is used ?
(a) Push Button (b) Counter

(c) Timer (d) Any of these
diueret # AND (B, C) féw fopa yr &1 2 ?

(a) qoTHTHS (b) GHIH

(c) difeheh (d) TR

AND (B, C) instruction in PLC is of type

(a) Comparison (b) Timer

(¢) Logical (d) Counter
et f16s1 ADD C T R & -

(a) rieheh (b) T
(c) T FEARY (d) A HE T
The type of PLC instruction ADD C is

(a) Logical (b) Arithmetic
(¢) Data handling (d) None of these
TehTY JUFh PLC & fha @ug A yge g € ¢

(a) 3T (b) Fia

(c) mma / fid gl (d) T | I3 TE
Opto isolators are used in which module of PLC ?

(a) Input (b) Output

(¢)  Input/Output both (d) None of these

7141
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(viii) Froeret =i somr @ R Tt <51 3o forg forw gian @ 2

(a) W (b) I TRE
(c) WM (d) IS oft foma
Overload relay is used in PLC ladder program for
(a) Motor starting (b) Motor protection
(c) Motor stopping (d) Any operation
(ix) o fucr @i fom &1 am i g ?
(@ T (b) @
(c) T (d) HiF
Which is not a part of PLC ladder diagram ?
(a) Rung (b) Rail
(¢) Coil (d) Contactor
(x) droerE @i siomfi § weh ores 1 s foRa e dlar & 7
(a) FA=E (b) 3Tieaare U
(0) Fa= / st A d) T TE
A counter in PLC ladder programming is used for
(a) Event counting (b) Object counting
(c) Event/Object counting (d) Time counting (1x10)
Y — &t
Section — B
2. THIST o fehedl offiF wfget & A ferfam |
Name any three editors of SCADA. 3

3. U renett IO AT 3 WR-gedl TRYH 7q Huerd Hiet oma s e |

Draw the PLC ladder diagram for star-delta starting of a three-phase induction motor. (3)

4. THISI S diuerd) & T 3TaTe ¥ Teh 3TN S5 |

Draw the connection diagram for interfacing SCADA with PLC. A3)
5. Ue HIeT o ARaT & Eeerur 3 Tiers €t smw a9y |
Draw a PLC ladder diagram for protection of a motor from overheating. 3)

6. Ueh feregd €ict bl feere 3119 i & g firfe weag o it o foar €l ame s |
Draw a PLC ladder diagram to turn-off an electric heater 10 minutes after switching it
on. A3)

7. foreft wer o wrelie SufRafa 7 89 W Tk 91 3T%HeTh i T i 3 Th o] Hiet
NG TS |

Draw a PLC ladder diagram to turn-off an air conditioner when no human presence in
a room. 3)

P.T.O.
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8.

10.

Lz

12.

13.

14.

1:5:

<1 fafir gy Tl @ U At i = - 37 S 2 T dieerd Hid sm@ s |

Draw a PLC ladder diagram to switch-ON a motor from two different remote

locations. 3
Teh THTST 3iTeatae o Nuerd! Hid 3@ & a1 THie i aqgrsd |
Explain linking of a SCADA object with PLC ladder diagram. 3
e -
Section — C

foreft oftenfires Su=m 3 Yaevft whm & feavr 3 diuere dhidt sm@ s=msd qun s9eh!
ST W gHETEY |

Draw a PLC ladder diagram for control of conveyor system for any industrial
application and explain its working. 6]

T=AIfRI ST IURINT S BT Ueh &8 R HIet o 310 / 9v= e o e ues fuere didh
G 1S AT 39h! HEATTA! T |

Draw a PLC ladder diagram for forward/reverse operation of a DC motor using
interlocking and explain it’s working. 8)

T A1 femm & fore v et Hied) s s=1sd qen saeh! Srivue gasmsd |

Draw a PLC ladder diagram for stepper motor control and explain it’s working. 3

T I U Terea feer & fore diuere Hidt s sHed aun st SRyl auems |

Draw a PLC ladder diagram for water level control in a tank and explain it’s working. (8)

e Terator sga & fmor 61w gunedt w1 wfem auiF Hifv |

Describe a scheme for control of water distribution system with neat diagram. 3

Uefiaer o o o fore wes fuerdt €t sma w1 qer saeh! srifaf auems |

Draw a PLC ladder diagram for control of elevator and explain its working. 3




